1
TRNOFEIT TR waeg dsé_ao dS’aesas‘aFo:b THOTY
Qsécoﬁ &.030.2 TRXET aﬁ@c%—l: =50 e-2025

QTOR: 22— WPFITT FRTO ITA® N0 ©o3riwL: 80
@730 = R — BOTNE
I TOCIRT LOITRT, B0 WIWD. 5X1=5
) | mEcsrs Barbe oFedBom HehedD, a50Y IIRERIT
(a) BoBRYY (b) BeFonegd  (¢) 3BRYY  (d) wDTINTY
WET | (¢) BeedneQ 1
2) | TFCo3» 100 Sw.isd &3 TVCoI: 125 SRASTRR 2 SEEE, 30@HRN0.
(a) 25 (b) 125 (c) 175 (d) 225
ST | (d) 225 !
3) | T SRFT DIBT IRE
(a) 1929 (b) 1889 (c) 1920 (d) 2018
WET | (a) 1929 I
4) OB WO @&32330333 QT PRI,
(a) LLLTVOD (b) Bt (¢) wRTT (d) BR&F Lo3K3
WIT | (b) BeR3 I
5) | oDDPRENTH D) ¥0TBT Bedeod B DTed ATRNY IWT 03, [PRERGWIIW,
83 [T IROBONI), doerim,Zesl.
(2) BT [T §00R (b) @33, T 0B
(€) BT [ 0B (d) QTP [TPIBY d0R
WIS | (b) wv3R, SR, de0R !
[I. | $N00REQ0E BORE WITHT, @02, RO Y, FLRT, $Ir INR. 5X1=5
6) | BeoReod cdeend wHFFZONY DY JIWD JIPOFONYRY, — IRDIRDII.
YIT | BTET 1
7) | 8BS BHOT/ FTIESIRBD — TOTVFLON QYT, MIELOTEITONT.
YOI | WOTeror FjTectd 1
8) :@@5 BOHFS APOIR) DPOIT VOZTOEFOR TAHTINT
WIT | LT, 1
9) | T33Q YN, (JReEVNT™)) BRBBA INT DTIBPY, FOF
WET | RBI 1
10) |g9083Y —  ITFP QY 01 00T F[ooeFr 31 T ITNTHIT.
YIT | BTN 1
1. | SRoQx W30W0. 5X1=5
11) A B
a) S[RTO wTPFIF - Vi) onr3ogny PRI 1
b) 309 TT - i) VMP, 1
) MTE, - V) Bo3&%3 QAT 1
d) M3e08) My - ii) Dzow e 1
€) B AT - i) PR ATH 1

IIPUC EXAM-1, MARCH 2025 KSEAB 22 - ECONOMICS MODEL ANSWERS




2

IV. | %NS IJRen womd Tog, vFTe ITTY wwgd. 5X1=5
12) | BOWBLE SHFFIR .00 WHITTH JeR.
WETT | WO (O3N.QTE.R), WIRTT, e::ﬂgs)e@om (C3RR)TOTBR WOTH) 1
13) | 93 opPReNne Berdd Sedned zmowmon di(p)=20 - p ) do(p)=15 - p SR, [PTTE
BeE TeBoRTY, FORLROWO.
YT 35-2p 1
14) | CPI - 230x.
WSO | CPI- CONSUMER PRICE INDEX, w=ogdncn ©38 300,08 1
15) | TRBNT 3T 0BT
Splcle’ 3pcdecdh 303 2 AFE WR, THTINETRIT FT AR TPFENT 3RTI0IPNT. VT 1
TRFENE RT3 = decdecd RT3 -ATE WR THIIAD
16) | &0 SHFFE Q0BT DFOW WFFA0?
WIT | 20wk YR NG IRAFACOR ZRIT VIS YN e FRBODY TR, F0Y G 1
SESRcpic)
N — W
V. FSNT SR TOTTR &T gé’qﬁe?ﬁ o508 4 m%m*ea YOZO2. 6X 2=12
17) | ODPREND STIF SORON), IFFOWRT WOINYZ, BEd Boa.
Splcle’ . ©OLREA0D BTIOD 2
2. ©ONLRENCH escséémfo
3. 2o w39% I8 (MRS)
4. BTEI XS
18) | BeR¥ 0P[Ry, 9.
BT | YT HOBNLD }TOwoNTYR 2,000 IO B3¢ Twpwen ©TT BeRIOI FRFOAIPMHIT BoTY 2
2,00 AT WS TRWDOITTN VW3 WeRFOI TWIT.
QD XS B BeRTOD IBRT IFHOZT FOWOPIR, DB/ORIT.
19) | B2FoRS ITRHT ARG, S92.
ST . ©0% Zegony zmwe (IRS) 2
2. 33 TEone IWeero (CRS)
3. avicd I3Fond I=oeed (DRS)
20) | DEFRFER JPYRERy, IO
9T I GeorsG %oemo @y (LRAC) 2
2. DegporRl aemwos @3 (LRMC)
21) | T WSRTTONATIRR)? YN gaa;@ne;ssaez IB02.
Qe 1. o - rieed 2

3@ — 3Rd
WOBDOY — AL
FOTUS — o0

Eal

IIPUC EXAM-1, MARCH 2025 KSEAB 22 - ECONOMICS MODEL ANSWERS




3

22) | TOHRRE, Ty i Lo FIE SRIT T F AT, wIowD.
WZY T[S, GDP 3 GDP 2
L Oogeod  STRODID, WY IR I Coqead STHOONTH, GHOT [IRE/ AT
zSeSﬂe;@ DTS mmgd waCS Al o) mws mmsd
2. AW WTITT JTWEOTORT  DOFDNT | 2. A QVIYTDO TFRRTURT WA
VTITIBRAGI, BRBWPHDY, VTITBAGI, SYRTT.
23) | SRS e WRTE THI FAVWG TFI0H WRHTING VFE JeR.

WIT | 3n aegen ©HmeE (CRR) — 0o @008 33, 2 SemedodQ $e03, woos3 SN 2
aNeFoN YrESedeson 3eTTomO mgam% INTD SN VT3 @m@d
PATWG, TRTD OTDI (SLR) - 2.0m 0% 33, i) Bemedodg TATWF TN T,
weode ‘a@%ﬁ@%ﬁ@ﬂd SN, 2'%501 THF0 PTING mgamol mxsw% gwéa'o VT3
RT,TOMETT.

24) | TeeT BeREoH QTR WOPEIRNTRy, 9.
Sacle L S©z03 Sl 2
2. AVTOIOTT VTS
O Q
25) | C=150+0.5Y, deRTT wmhydecn WOwITNTY, OB wsigecn =03y MPCod 53306335334
nododa.

WET | AONT wIvgeen = 150 2

MPC =5 =0.5
26) | W TTRTTORT 0IR,? WRT, 2F TRt FT0I0TIS?

YIT | BEo TRBSAWBC TOVFRIT ATHRNRAYI), WIRTBJOI), ‘ms@ﬁ AT T,ZIT. 2
OPERENOID BTN JBRTE, AT 3 %aaéo‘:bocs QRPRTE ToRE VPRPOY TomoN
WTTD, Tort ITO3NTVT.

N — 2
VI 8 $YNT SRJYTIR DT IFROR J2odeoTIR, 12 TIAEY €VZO2. 5 x4=20
27) | %O [T SRFIBCHY Fu 0w, JewT, 233 oIVR LNy, wer Tert 3R, WAy
BRTYREAHTIT  D0wWTRY oI TN JTO2.
I3 | 20T SHFIZONYT FOTIRONAWD NS0T, STWE HIT WORNINH VTONITONS. 4

TomoN 3RT30N :dowmé@ﬁ% YVOERNT. SHFIZCNY JFT éﬁcﬁa%@@o@s TIBTNRD
VPEATVT NIIT IOTIRONTI, WFA 3OY ATH DI FeINTT, WIORIT. )
QT VNRZTOT ATH WY AEDRTI, WTVOHILY  WTRAL FOF) FTRNAYI,
w%fﬁo%w%ﬂ%@_pd.

SNORHEMAY BT II,QT0® xowmeeﬁe?ow mﬁémﬂmcl WTIDA 2O NBI),
@mmm”-@ WA WOT LRNRDIY, I¢TOT W) 3TFOR JLWT WOT Wi DI 33T
AE[RT, TN JWONLO WYHWTIT.

- ) Je0R IIYIT T, INW WTVHNYOT FOITPOAT WEICRT), LI =B
IR 50T ATB BB FeWNET), TWORWIOWD.

- égﬁda sme @s%@od @m@rﬁ@ﬁ BReDa Fed JeRT FROT T OO 3TN
e3eToT AT, ACRATTY, VWONWIOW.

(Bo33 2RI wnis)

IIPUC EXAM-1, MARCH 2025 KSEAB 22 - ECONOMICS MODEL ANSWERS




4

28) | wules® Reosny, Seavugm BTeoRRoW Bo TN Q0.
Slcte! £930232eNC3N 33, @moﬁaé& ATTOT JOFH, B30 TR ATBNTI), %@o@aé@%&o&amd 242
ROC3REHINY BONTIT), WEEF Ned OT,ZIT.
® ITORTOT ND
e PiX;+tPXo <M
o My Fodeexsnsd —(0,0) (0, 1).....
M/p,
g s,
i ¥
13
© eSTrasnes M/ p,
(D=0 ¥R
29) mmss "o I 3903 BOBNY IR sémssmmd messEndeodnt T3 TRR.
YT mmss TOBN ST BoBN 2+2
1) ©@PeeN0D STOOD ézsawdoé WO | 1) ONLBREACH BTIOD émzsdoé 20T
JT3IS KBedB %zsgmﬁ TN, T3S KeRT TRIVOTTOMR ITNALD.
2) wome: BTIT B W BT0. 2) oo 3N\, Y, wIF, ©IF, OO,
famé&)rwo.
3) monng  SeRd B ONERENOD | 3) ATINY e B 9TLBRENOD BTN
BTOONT ITw cSmé; TOWOTNT. RS zﬁamé‘eﬁ TOWOTPNT.
4) 2@ WBe@F Tead wmood TewHWT | 4) 9@ Be@ TelS BTN JWPWT AWML,
we)ayoﬁ%é, Claplew FRTOITTT Cian]ew) TRIOOSIVTT w@mrﬁé
PBEONG, TQWARRIT. BQURRNRTT.
30) | 8 3YNT BReHIR) 2.0 TOTRF BRAcL LWRINT ik, BT WY iy, [BBT TLIowR,
3R0TTT. T T, TOIW TP, I3, [RR T3 BTN TPTHEY, RWSWTY, IFFO2.
WIT || [eoeus  I[e (8) TR (30.799) TC (32.1%9) SR 4
0 0 5 -5
1 10 7 3
2 20 10 10
3 30 12 18
4 40 25 15
5 50 40 10
6 60 60 0
7 70 75 -5

31)

Berd =By maéaos; NFROT TJOWNPOT TRIRCOTT  Foed wammwm& SRCODT
a@ew@sw@z WToWD.

IIPUC EXAM-1, MARCH 2025 KSEAB 22 - ECONOMICS MODEL ANSWERS




Upcie) BerdonQ | BeEDY 4
= « i T=50ee B33
T3 T3 =
-%zﬁuﬁw&m
WONRBR WONRBR ézsaumgd " 3R003TORWTITD
" OTUINTIE LVPOVWTIOTN
-&sewmmm
QTNBNR QTNBNR FRH 0N " 3R003TONRWTITD
" OTTONRTICUVPOIWTIOT
-é@sﬁw&m
QBNATEN WONRTEN = 3RFDOITINLTITD BRI
BTSN GVPONLITITR
" B 2FMITO
WONRTEN QBNATEN = 3RFDOITINRLTID %zsaumgd
BTSN GVPONLTIT
32) | oREn BROVT =Y VRF ROV FeINETRTY FWETT (T HIy oW  TOCRRS
TOBTRY, WA
YIT | ATETT (Togs) T3, 2+2
1) FIRDNI, TRLWPYT [ 2WOR BIJT.
2) ORVJD TOONFNE
3) WTITIONI, PRI I.
4) 3ORNTD, BONLARYTD
5) RDROPRT FTONFAD, LINWIYW — sdwen, 3360, JTFI T, [T,
%?@?5@.
FEHOW TOOINY T
1) QAF0FT8 FTUWINLD
2) TIBI W) VDPRNT FLINRD
3) 3=3 m&egémdda (LVTITTONND)
4) WTVTTONNALH TEFONGI), NYRTVT
5) AT P AeInon zﬁe&é%oﬁa& ST,
(Rog X Q=T SHEEN)
33) | weTIRYRy 0B WIoWD.
Qe 20T NWTI FTY) R2oRelay YOTE ,ﬁ&s%z‘% VPD W) BY ng% Sszisoﬁ YWDl 2+2

BARRT WP TUAINYA RTIND 23,T90.
PTINGY FIVTT PTIND ) INFTOIF LRT[INTOW ATB PRV,
1) FTe83 maééri@éo — ORVIRVINII, LINTIT. %ma%mﬂ m@ﬁéo&aozﬁ mmémw@swa
B, R 03TDTOTS.
2) WHOZF PBIND_— DIONINOINTI, IRWITB. 8

| RAOTT. émaémi m@@éoﬂaozﬁ m@@
émwmgzﬁ.

(o33 TS wiig)

IIPUC EXAM-1, MARCH 2025 KSEAB 22 - ECONOMICS MODEL ANSWERS




34) | TRRE WoWIIIJ, JeaseZreoR DTV
Slcte! TORB WORTE ITWVAY {PIT TONBRNR SMOT BRI AeTFBONTZ, TLRRE DTBI. 3+1
TRRE NI BTONT IWIT FOITOBOOW FOWOPRI), TRRE WOWF IZV,B/R.
AONT BRATOD A B5e3TY BRRTOD Wowsy [=] sndIs.
> (Ro3 T 2T wnig)
35) | Bomeod W0 WORWY ECH NN VISR, WB0%0.
IT 4
WOBRY 2R3
I
[ [ I
Beadrwh o, Rorh oo, 309
|
| | | I
Sed Be08 dawfrgadodee evoe: Adverdd
(s3) B8 ovcR: woE, St odoed, odof
monsh, vosh wo Roordad, waadeod
e Oxiseod morish
evoe: FDL
Beddod Aol miteedoedd QD
23 Sed wodsed -
=0
>N - &
VII | 3 NS c3nmente 3w IJNen B30deonids, 20 Se3ned ¢vgdz. 3x6=18
36) | Bomoacs; SFPeadod o roneRy, Sesseugndeodnt ZRIR.
WIT | 1. Brwacs, B3Besdodn SBROT WOY, AT DTADIZ.: MRS 2rar2

no® 2

(x,. x,)

A
X (x, + Ax, x,+ AX,)

Ax,

IIPUC EXAM-1, MARCH 2025 KSEAB 22 - ECONOMICS MODEL ANSWERS




2. 9397 Bmeucs, H3deaione BT DT Boayrbronah, AemIH:

8

CEELET N

37) | Rechatd BeSE Sesdonhy SeamuzneonR QB0
YOZT | [IPTVFL, TRTF TeBOID NWTID FPUINWD TPWILOD 0P LBENGY WTIORT WOIT, | 2+2+2
YRR, ERCOWTT. 2.0W BJPRWFEONY 1, 2, 3 3TH & OB, WBITLINCT,
BT 3G pIY WTBI TLINW JRTRAT 2, BeI[e BoWsY, TRTFCITONIT
S, S,
o qs o qa
(a) (b)
( OWTR @)
38) | ROFY, INFTY, [THzE, WSNYY 2,07 Be3TW ¢udn SR. 4000 dectd /@ aocﬁ:me&@@m.

QTBeBReon AT wvgyETeon ook (NFIA) Se.500 dnces . B[3e &g owe. 450 dnces
03y FE Idweeg, 30rin¢ TP, (NIT) Se. 300 ecyd AT. 31 FENT IRCFITRY, WRFRRD2.

IIPUC EXAM-1, MARCH 2025 KSEAB 22 - ECONOMICS MODEL ANSWERS




Sl @sséém;a aﬁosmb (Boees 6
3ne.A%Y) S500m0

GDPwp 4000

GDPsc 3700 GDPrc= GDPmp - NIT = 4000 - 300 = 3700

NDPuwp 3550 NDPwp = GDPwp - Dep = 4000 - 450 = 3550

NDPrc 3250 NDPgc= NDPmp - NIT = 3550 - 300 = 3250

GNPup 4500 GNPwmp = GDPump + NFIA = 4000+500 = 4500

GNPsc 4200 GNPrc= GNPwp — NIT = 4500 - 300 = 4200

NNPuwp 4050 NNPup = GNPup - Dep= 4500 - 450 = 4050

39) | BT HOPFATTY, DWOR. AW TR o3 DATIOP w%éo.b mmmmd QT0230?

emgd

ATEOOTOR  ACTOTOL, DITVOR  BRTBEVWN 0B z@oémmcs TOPIDON  TOONE
DTFLAT 0ITOPTe BRTI), Bd T[T
TT TOONEN:
(2) DADDH [IRF
(V) IPOTRTI WFI
(R) BRY, IrRFITO WFI
(®) IR, oz
55@58‘){1 mqﬂéﬁomﬁ WEPTTIe IBOINS SHF T mmomemq T3 QAWOD m%e @5&3@6&.
903 ATPNASNH m‘d%omia’b& 3TN LIV TRRERLT TA QAT aﬂcﬂ@éoﬁmﬂd.
T3 QAT a'jcgpéoﬁoeg TOTOD mésémfo BOWWOTH). DPYNSOTT
1) 2000N3NRS RENNEY ¥plelanhack ey m’mﬂé
2) IPOTRIIT T
3) QPBIcD 3RTI
4) FoWES [P, FORTT 3RTI
5) WO BITTT ER0TT (TR o))

40) | AT QATOH TT W3y WEORMT IDT0H TORY Moo T3 DBRTNET, T, STRR.
YOZT | @) AT QAVToH TT: ATET 2,00 AOFH DUTY WATOH TIT ANOTBHZTT, ﬁgpd QAT 3+3

BT OET.
moeenies: TTOFOT TOZ IWND - DTWES QIWOD  [IoTFLIR %gpdé - 33 Be3ne IWD
WoIZ ATed WOTIY TOLT RS0, JWFAIT. — ATPTY DHTFPedA 3T,
PRTZ WEIONTI), WIAT VRVT FOTOOH W YOITII, ROTRAIT.
BDRCIND: ATFTT ANF BHBOR mmz;jéﬁj 21}, m’ode%% To00 — ATOFT TRT @m@@samc{
BIVTLTITIOW mma&r@e&% TOTLOTOTILITOTN.
W) WRDME JVTOR TT: TpTEFL, WONTIT LeRT W) TRTINVOT  IpVFTHOndED
QAT TITI), WRSRTT QAT BT dFET.
MRE: FFF0T TINNPOY. - ATFTF DTed QIWOD WERLINT BYS  TT0e0T
RONTAY IVFIH  ONZIPVPNQ. - FoDowwITHoN FOTRWIT. TEOTIAT
QedNe IVFTBONY, ATOT,
Seen: ATF0 BT TIOWPHOQ. - ©JTION AT FHOIPNRWTW®. — T, WOTTF,
QT FTOTEDONWIOTR.

CEELRTCN

IIPUC EXAM-1, MARCH 2025 KSEAB 22 - ECONOMICS MODEL ANSWERS




9

-3
VIII | 32 39NT 0SRPYTncRe HTR: 5eheynd 2033 dodecid ¢ IFnvn ¢vgoz. 2x5=10
41 | 38 3INT IReFITY FBCIRT YOITAYRY, FOTHRON.
WZY weaggeont (L)| TPy MP,, AP, 5
0 0 0 0
1 15 15 15
2 25 10 12.5
3 50 25 16.66
4 60 10 15
S 68 8 13.60

42) | B 3INT BReTBE, 2,00 TeaTwWIRI), Tudd DB TeooBIZTY APIRCVT O,
TBROT BB, TRZRCOT I, WHT BeRd Tonw WP m&ﬁmm@l TSR,

P QD QS
1 25 5
2 20 10
3 15 15
4 10 20
5 5 25
Sucle 5

IIPUC EXAM-1, MARCH 2025 KSEAB 22 - ECONOMICS MODEL ANSWERS




10

43) | dE, BEpowsd [Tead Gmeok wE JUnERFRA0RE ot ¢PTIH TNoNBTITE, eI,
WET | | wOTH BEHOWT [RT S0 Iy JUNYRRFRROR woTH YWETOH [Twon® ITE,
STONT TRONED ST weenned
L 3 QOII NS [o008 5,000-00 | 1. &3A dz;s 4,000-00
2. 309 03T P[e3II 2,000-00 | 2 égsa 2,000-00
3. TO0 [I0TE 1,500-00 | 3. m0R d?,;s; 1,000-00
4. 3pe9 ATPT 1,000-00 | 4. wdwer &, 2,000-00
5. 983 PRONRW 500-00 | 5. ¥83 ﬁz;s‘s 500-00
WE, ST 10,000-00 W) a"zgaﬂ%*o 9,500-00
PN — F
(T NIOWECST ;szs@?m?ﬁ <R3)
41 | TP, MP & APR¢ e3r3m, Jea.

WIT | 1 2ty vogw, Total Product: w33 oep smosRva, 40mN LTCIMS S8 T WIHY
ST FOWOFRII), WHUTHT STOIT W), WBT, OPTD 2, SR SN qbabopgd QT
RE[IVOZ WIIJ NG 2.8, BRIWONTOIT.

TP=YMP [ YMP= 2e35008 gz ne 2. &8 ]
2 330 w3F, Average Product 23Conds <most B8 O0RRATS QIR @, FT9Z0
WS, @33%338. 28D YOIT |/, BTOIT FWIHOT LONATON AT :@@5mﬁda§d.
IE
AP= L [TP = we w33, L= 3303 Fwsnsd ]
3. ae=208 wvgs, Marginal Product: 933 ooy soolnsd 33mond); 0ol sTRIT I
CINVFT WTLITHBR WIITURMB WTLVTFHOND), ABIVOZ NWIT, DF,TVT.
ATP
MP= AL MPy, = TPn - TPn1
[ATP = et w33 BY3 wBwes®, AL = 0309038 WBUIR |

42 | SRWIE AXDIRCOT, FNIROT BS, BDZRCOT TI, VT Berd Tone YOI m@eﬁrﬁ%ﬂ
OTPEIW, Jeq.

I3 | 1) SRWLIEOHY BIHNIRCOT: TPRFEONII 2T ODPRENNTD L) QY WWBTDTFWINY

C3REIIN TROWOESFOITPTOT! 2,07 BFFEIB/RY, [IDTFL, FDIRCOT ,T0T.

2) BRBecos WG 03nE BSNY FRWIRCOTIR, IOTEOMTBOINE & SR FIROT
B3S 2JT.

3) BRBRCOT IFrd: FTNIRCOT BSONY DOCHAT W) [IWTW TPBUIT  TEIVEOTI),
ATNERCOT TSI DTV, TS,

4) ©RF TegE oIPT  wow  BENY  [RWTE, TJRTIFD  [pTY,  SedINoS
CIALDElleNIclalewioly VT, VT m&eﬁ @&Q@J&

5) ©Q3 WBeRd: 03P BSNY [T, WeRFORD [JPTFY, TRTIFONT), WEDITBAERE LTI,
9T LR @330@46.

IIPUC EXAM-1, MARCH 2025 KSEAB 22 - ECONOMICS MODEL ANSWERS




11
KARNATAKA SCHOOL EXAMINATION AND ASSESSMENT BOARD

IT PUC EXAMINATION 1 - MARCH 2025

SUB: 22- ECONOMICS MODEL ANSWERS MAX.MARKS: 80
S1. No PART A Marks
I Choose the correct answer 5x1=5
1 Ordinal utility analysis expresses utility in
a) Numbers b) Returns c¢) Ranks d) Ratios
Ans | b) Ranks 1
2 Find the Total cost where TFC is 100 and TVC is 125.
a) 25 b) 125 c) 175 d) 225
Ans | d) 225 1
3 The year of Great Depression is
a) 1929 b) 1889 c) 1920 d) 2018
Ans | a) 1929 1
4 Easy availability of credit encourages
a) Savings b) Investment c¢) Rate of interest ~ d) Disinvestment
Ans | b) Investment 1
5 The consumers and producers can choose between domestic and foreign goods, this market
linkage is called
a) Financial market linkage  b) Output market linkage
c¢) Labour market linkage d) Exchange market linkage
Ans | b) Output market linkage 1
11 Fill in the blanks by choosing correct answers from the bracket 5x1=5
6 In a centrally planned economy, all important decisions are taken by
Ans | Government 1
7 Price taking behaviour is the distinguishing characteristic of  market.
Ans | Perfect competition 1
8 Value added method is the alternative name of  method.
Ans | Product 1
9 is the only institution which can issue currency in India.
Ans | RBI 1
10 | Yearruns from 1* April to 31% March.
Ans | Financial 1
III | Match the Following 5x1=5
11 A B
a. Normative Economics vi. Evaluation of Mechanism 1
b. Wage rate i. VMPL 1
c. Domestic service v. Non-Monetary Exchange 1
d. M; and My ii. Broad Money 1
e. Raw material iii. Intermediate goods 1
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IV | Answer the following questions in a sentence or word 5x1=5
12 | Give an example for market economy.
Ans | USA or Japan or Australia  [Any country with market economy can be named] 1
13 | If the demand curves of the consumers are di(P)=20 - P and d» (P)=15 - P respectively,
find out the market demand curve.
Ans | dw(P)=35-2P 1
14 | CPI — Expand
Ans | Consumer Price Index 1
15 | What is Primary deficit?
Ans | Primary deficit is the difference between fiscal deficit and net interest payment. 1
16 | What do you mean by open economy?
Ans | The economy which has the economic relations with rest of the world is called open |
economy. Or  An economy which has trade relations with other nations.
PART B
\% Answer any six of the following questions in 4 sentences each 6x2=12
17 | List out the factors that determine the optimal choice of a consumer.
Ans 1. Income of the consumer
2. Consumer’s Preferences )
3. Marginal Rate of Substitution [MRS]
4. Price of the commodity
18 | State the Law of Demand.
Ans | Other things remaining constant, when the price of a good increases, its demand
decreases and when the price of a good decreases, its demand increases. Or 2
It explains the negative relationship between Price and demand.
19 | Mention the types of Returns to Scale.
Ans 1. Increasing Returns to Scale [IRS]
2. Constant Returns to Scale [CRS] 2
3. Decreasing Returns to Scale [DRS]
20 | Name the long run costs.
Ans 1. Long-run Marginal Cost [LMC or LRMC] )
2. Long-run Average Cost [LAC or LRAC]
21 | What are the four factors of production? Mention their rewards.
Ans 1. Land = Rent
2. Labour = Wages
. 2
3. Capital = Interest
4. Organisation = Profit
22 | Write the differences between Nominal and Real GDP.
Ans Nominal GDP Real GDP
1. Measures national income in current | 1. Measures national income at base year
price / constant prices
2. It does not indicate the actual | 2.It measures the actual changes in the
changes in the volume of production volume of production 2
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23 | Give the meaning of Cash Reserve Ratio and Statutory Liquidity Ratio.
Ans | CRR — refers to the percentage of total deposits which a commercial bank keeps with
RBI in the form of cash. )
SLR - refers to the percentage of total deposits which a commercial bank keeps it with
itself in the form of cash, gold and government securities.
24 | State the two motives of Demand for money.
Ans 1. Transactive Motive )
2. Speculative Motive
25 | Given the consumption function, C = 150+0.5Y, identify Autonomous consumption
and MPC values.
Ans | Autonomous consumption = 150 )
MPC value = 0.5
26 | Who are free riders? Why are they called so?
Ans | Non-Paying users are called free riders. Consumers will not voluntarily pay for what )
they can get for free, hence they are called so.
PART C
VI | Answer any five of the following questions in 12 sentences each. 5x4=20
27 | Discuss how the Family Farm, Weaver and Teacher can use their resources to fulfil
their needs in a simple economy.
Ans | An economy has limited resources but people have unlimited wants. It results in
scarcity of resources. The decision-making units in an economy can produce some
goods or services by using few resources they have and can use a part of their produce
to obtain the needed goods and services from others.
Example, a family farm can produce corn, use a portion of it to obtain clothing and 4
education from weaver and teacher respectively.
A weaver can get goods he wants from through the exchange of goods he produces.
A teacher can earn money by teaching and buy corn and cloth from family farm and
weaver. [Brief explanation needed]
28 | Briefly explain the Budget set with the help of a diagram.
Ans | Budget set is the collection of all possible bundles available to a consumer at the given
level of income and prices.
e Opportunity set
e PIXi+PXo<M
e Affordable Bundles — (0, 0) (0, 1).....
WMangoes
2+
M.-". oy e, 2
~
'\-\.Hf"& .
'\-\.Hx:?{
S
Budget Set e
'\-\._\_le
o M_."Ip-_ 3 Ny F]
e Brief explanation of diagram is needed
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29 | List out the differences between Normal goods and Inferior goods with examples.
Ans || Normal Good Inferior Good
1.Demand for these goods increase with | 1.Demand for these goods decrease with
the increase in consumer income the increase in consumer income
2.Ex Food and Cloth 2.Ex Unbranded goods, Millets, Ragi
3.Has positive relation between 3.Has negative relation between 249
consumers income and demand for consumers income and demand for
these goods these goods
4. With increase in income, demand 4.With increase in income, demand curve
curve shifts right and with decrease in shifts left and with decrease in
income demand curve shifts left. income, demand curve shifts right.
30 | The following table shows the Total Revenue [TR] and Total Cost [TC] schedules
of a perfectly competitive firm. Calculate the profit at each output level.
ADS | [ Quantity Sold [Q] | TR [in Rs] TC [in Rs] Profit [in Rs]
0 0 5 -5
1 10 7 3
2 20 10 10
3 30 12 18 4
4 40 25 15
5 50 40 10
6 60 60 0
7 70 75 -5
31 | Write a table to show the impact of simultaneous shifts in demand and supply on
equilibrium.
Ans || Shift in Shift in Quantity Price
demand supply
Leftwards Leftwards Decreases = May increase
= May decrease
= May remain constant
Rightwards Rightwards | Increases » May increase
» May decrease 4
* May remain constant
Leftwards Rightwards | May increase Decreases
» May decrease
* May remain constant
Rightwards Leftwards » May increase Increases
* May decrease
* May remain constant
32 | Discuss the role of the Government (state) and Household sectors in both developed
and developing countries.
Ans | Role of Government:
2+2

1. Framing and enforcing law and order
2. Developmental functions
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3. Undertakes production

4. Collects taxes

5. Provides infrastructure — health, education, sanitation, market etc
Role of Households:

1. Decision making units

2. Production and Consumption units

3. Supplier of labour (factors of production)
4. Earns rewards from factors of production

5. Creates demand for goods and service [Brief explanation needed]

33 | Write about Externalities.

Ans | Externalities refers to the unintentional benefits or harms a firm or individual causes to
another firm or individual.

There are two types of externalities:

1. Positive externality - benefits caused — establishment of an industry generates 2+2
employment opportunities.

2. Negative externality — harms caused — establishment of an industry leads to
pollution. [Brief explanation needed]

34 | Explain the Investment Function with diagram.

Ans | Investment is defined as the addition to the existing stock of physical capital. The
Investment which is independent of changes in income or GDP is called Autonomous
Investment.

In a two sector model, there c 1
are two sources of final demand. T
the first is consumption and the
second is investment.

The investment function was

_ 3+1

shownas =1 -

Graphically. this is shown as I-1
a horizontal line at a height equal
to 7 above the horizontal axis.

In this model, I is autonomous y
which means, it is the same no Flg. 4.3
matter whatever is the level of
income. Investment function with I as autonormols.

35 | Present the capital account components chart of Balance of Payments.
Ans Fig. 6.2: Components af Capital Account
Capital
Account
Investments External External
Borrowings Assistance
4

Direct
Investment

Examples: FDI,
Equity Capital,
Reinvested
Eamings and other
Drirect Capital Flows

Partfolio
Investment

Examples: FII,
Offshore
Funds

Examples: External
Commercindy

Borrowings,
Rhnl'e,—#ﬂ(‘!ﬂ

T

Examples:
Government Aid,

Inter-gowvdafmental,
Ml ti]ar il ard
Bilateral hans

.
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PART D
VII | Answer any three of the following questions in 20 sentences each. 3x6=18
36 | Illustrate the features of Indifference curve with diagrams.
Ans | 1.Indifference curve slopes downwards from left to right - MRS
\ .
i, )
am, I \""_\. [f.ux.,!:*ﬁ ol
d
o Bananas
2.Higher Indifference curve gives greater level of utility
j:':
g 10 |
' 2+2+42
1 2 3
Bananas
3.Two indifference curves never intersect each other.
:._ \,’: .|-..r 1]
u B (3,7)
" g S
C |‘1.i..:-|i — |.i.'_.
Bananas
[Need explanation in detail]

37 | Explain the Market supply curve with help of a diagram.

Ans | Market supply curve shows the output levels that firms in the market produce in aggregate
corresponding to different values of the market price. If there are 1, 2, 3 ...n number of
firms in the market, the total output supplied at market price P is the Market supply.

Price
s,
Pafresmmnm. 4..._._._......_._._...... T U S ————_ < —
5 // Z 7 442
P
fa) a. 5] a, &} 9 Output
) M) ]
The Market Supply Curve Panel. (a) shows the supply cuwve of firm 1. Panel (b) shows the
supply cuwrve of firm 2. Panel ol shows the market supply curve, which (s obiained by talking
a horizontal summation of the supply curves of the fwo firms.
[Need explanation in detail]
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38 | Suppose the GDP at market prices of a country in a particular year is Rs.4000 crores.
Net Factor Income from Abroad [NFIA] is Rs.500 crores. The depreciation is Rs.
450 crores and the value of Net Indirect Taxes [NIT] is Rs. 300 crores. Complete the
following table.
Ans Identities | Values (in Rs. Crores)
Calculation
GDPwmp 4000
GDPrc 3700 GDPgc= GDPyp - NIT =4000 - 300 = 3700
NDPup 3550 NDPwp = GDPwp - Dep = 4000 - 450 = 3550
6
NDPrc 3250 NDPgc= NDPmp - NIT =3550-300=3250
GNPwp 4500 GNPwp = GDPyp + NFIA = 4000+500 = 4500
GNPxc 4200 GNPgc = GNPyp - NIT = 4500 - 300 = 4200
NNPup 4050 NNPup = GNPup — Dep= 4500 - 450 = 4050
39 | Elucidate the functions of money. How does money overcome the shortcomings of
barter system?
Ans | Money is the commonly accepted medium of exchange.
Functions of money:
1. Medium of Exchange
2. Measure of Value
3. Store of Value
4. Transfer of Value
Barter system refers to exchange of goods. Money has overcome the following 3+3
drawbacks of barter system:
1. Lack of double coincidence of wants
2. Difficult in measurement of value
3. Problem of divisibility
4. Challenges in durability and transfer of value
5. Problem of credit [Need explanation in detail]
40 | List out the merits and demerits of Fixed and Flexible Exchange Rates.
Ans | a. Fixed Exchange Rates: refers to the exchange rate determined by the government.
Merits : 1. More stability and credibility
2.Government interferes and correct the BoP deficits by official reserve sales
Demerits: 1. Inadequacy of FER leads to instability - creates doubts on Governments’
ability to manage FERs.
2. Forced Devaluation — possible speculation attack on currency
3+3

b. Flexible Exchange Rates: refers to the exchange rate determined by the market
forces — demand and supply of currencies.

Merits: 1. No Governments’ interference

2. No need to maintain huge reserves — automatic management of BoP
Demerits: 1. Subjected to international market fluctuations

2.Speculation leads to uncertainty
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PART E
VIII | Answer any two of the following projects and assignment-oriented questions 5x2=10
41 | Find the missing products in the following table.
Ans Factor (L) TP MPy. AP,
0 0 0 0
1 15 15 15
2 25 10 125 5
3 50 25 16.66
4 60 10 15
5 68 8 13.60
42 | Draw a diagram for the following table and identify the equilibrium point, equilibrium
price, equilibrium quantity, excess demand and excess supply in diagram.
P QD Qs
1 25 5
2 20 10
3 15 15
4 10 20
5 5 25
Ans 6
5
g 4 Excess Supply
% —» 3 < » Equilibrium Point
% j Excess Demand 5
) 0
0 5 10 15 20 25 30
Eggilibriij%uantity
43 | Prepare a Surplus budget on monthly Income and Expenditure of your family.
Ans Surplus Budget of a Family
Sources of Income Heads of Expenditure
1.Sale of Agricultural Produce | 5000 | 1.Grocery 4000
2.Income from wages 2000 | 2.Education 2000
3.Dairying 1500 | 3. Transportation 1000 5
4.Poultry 1000 | 4. Health 2000
5.0ther sources 500 5. Other expenses 500
Total 10000 Total 9500

[Note: students can write any other sources of income and heads of expenditure of]
their choice with different values]
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PART F

For Visually Challenged Students Only

41

Give the meaning of TPL, MPL and APLy.

Ans

1. Total Product: The total volume of goods produced by the firm using specified
quantity of variable and fixed inputs is referred to as total product. Or the relationship
between the variable input and output, keeping all other inputs constant, is referred to
as total product.

TP=)MP [ }MP= summation of marginal products]

2. Average Product: is defined as the output per unit of variable input. It is calculated

by dividing TP by the number of units of variable factors.
TP

AP= L [ TP = Total Product, L= Labour units ]

3. Marginal Product: is the change in output per unit of change in the input when all
other inputs are held constant.
ATP

MP= AL or MPL=TPy-TPn1
[ ATP = change in total product, AL = change in variable input]

42

Give the meaning of Market Equilibrium, Equilibrium Price, Equilibrium quantity,
Excess demand and Excess supply.

Ans

1. Market Equilibrium is a situation where the plans of all consumers and firms in | 5
the markets match. Or the situation where the market demand equals market
supply.

Equilibrium Price is the price at which the market demand equals market supply.
Equilibrium quantity is the quantity bought and sold at equilibrium price.
Excess Demand is the situation where market demand exceeds market supply.
Excess Supply is the situation where market supply exceeds market demand.

i
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